@ Ergdnze die fehlenden Zahlen [3]
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Aufgabe 1

1. 8157 < g162 < < < 8 177
S < ¢S < < 6131 < 6 139
o < 5183 < 5192 < 5201 <
o D ) o ) 7923 ) 7
B 7853 D ) 7 883 < ) 7713
6. 5976 < < < 6015 < 6 028
. 4128 ) 4127 D D ) 4132
o ) 7181 D ) 7187 ) 7 200
o ) 3156 ) 3163 < ) 317

10. 1492 < < 1516 < 1528 <
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Ergéinze die fehlenden Zahlen [3] | ANTWORTEN * * K
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Aufgabe 1

—

8 157 < 8162 < 8167 < 8172 < 8 177

2. 6107 < 6115 < 6123 < 6131 < 6 139

3. 5174 < 5183 < 5192 < 5201 < 5210

4. 7899 < 7907 < 7915 < 7923 < 7 931

5. 9853 < 9868 < 9883 < 9898 < 9913

6. 5976 < 5989 < 6002 < 6015 < 6 028

7. 4128 < 4129 < 4130 < 4131 < 4132

8. 9148 < 92161 < 92174 < 92187 < 9 200

9. 3149 < 3156 < 3163 < 3170 < 3177

10. 1492 < 1504 < 1516 < 1528 < 1 540
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